MATH 111 HoMEWORK 9

Name: SO]U'&D"\S

DUE MoNDAY, NOVEMBER 27TH

This assignment is worth 100 points. You will be awarded 40 points for attempting the entire assignment
(that is answer all problems). All of problems will be graded for the remaining 60 points. The space
left between each question is indicative of how much work you should show. If there are any problems
you find particularly difficult, circle them in red. If there are any particular questions you would like
feedback on, circle them in green. These are examples of questions that might appear on an exam/quiz.
If you use a calculator to help, make sure you can also do them without it.

1. Write each of the following quadraties in “standard form™.
{a) flz}=2"-2r-3
2
= (x-1) - +d - 2
1) D = (x+2) -4 -4
= X -2x4\-3+dh

(d) fa) =22 +40 - 24

:> d.=-\

7 2
AIISWEI“ ('x' l) - L!- AIISWGI" (x-r Z) — z b)

(b) flz) =3z +12c+9 (e) flz&)=22>-2r -5

Y(x )+ A - Z(:Ll—af—) -5

3((1"’2)1_14\‘1'01 - 2’ (Lx _1/?’)2; '/q.) —S
y(ox+2) ~12+4 _ Z(x"/z)L" \Vy ~ &

1]

il

Auswer:_3_ (:C"'?')l- S Z (.x-"z)z - ”/ 2.

Answer:

(c) f(z) = —2% +6z 4 (£) ) = —ds® +8
= - (x*6x) -4
= - ((x-3)-a) -4
= -0 +q -4

rd
Answer:.— (x"a) t 5 Answer:___ qcx’l"—g
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9. Write each of the following quadratic functions in “standard form.” Then fill out the table and plot the graph, labeling the

y intercept, roots and the vertex.
(b) f(z)=-2s%-dr-3

-2 (ax*2x) '3
2 ((x+)*-1) -3
2l +2-D
= -2(x) -

H

(a) flr)=x% —d4r+38

= (00-2) ~4+F
=(x-2)" 5 &4

"

? Domain: (‘OO, OO) y-intercept: i 3
L.. ()O}-\] Minimum: M /H»

Domain: (,- o< / (,O) y-intercept:

Range: [{‘h 00) Minimum: ( z' u,)
Maximum: ‘\j / A Increasing: ('L' R ) Maximum: (— \} - l)
(-00 / 7 ) Roots: M ! ﬂ Decreasing: (-— \ ; Oo) Roots: M/ A

Range:

Increasing: (-.09 / -—\)

Decreasing:

Cont,
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(c} f(z) =322 =12z +1
= -3 )|
= -3 () - 4) x|
=Y xt) iz + |

= -3(xt2) %13

-3(x ¢2)1-r I3=0
(ocr2) =3

x = 2ER -7

{d) flr)=2+"+8

Domain: | (-3 00) yintercept:

Range: | (-00, \'51 Minimun: | N} A

NG (—2 p {B) Increasing: (-6 ,—'L)
Decreasing: | (-, UO) Roots: fﬂ_‘_z_

131

21504

Domain:

(~00,0)

y-intercept:

Range:

[8,00)

Minimun:

Maximum:

N/A

Increasing:

Decreasing:

(-b2,0)

Roots:

Cont,



MATH 111: Homewaork 9

Page 4 of 6

3. For each of the given graphs, determine which function it represents. Each square represents 1 uit,

{a) {c}
ﬂln
(X A\ (-;,*1’\ ( ﬂ"’\\
- i 4
(2
4 ‘}_2_
a) flx)=(c+1Hx-2) <) flz)=2(+1)}(zr-2) a) flay=4(x+3)(r+1) @f(r) = 5(r + 3)(x +1)
Y fle)=(x=1)(z+2) @(x) =2x - 1){x+2) b) flr) =d{z =3}z =1) ) flz)=5(x -3} r—-1)
(b) (d)
+ D
6~ y-q’/L
= (x-5)
1 T
() ot ® e

o) fle)=-dole—1) ) fle)=~Rulx 1)

@(m) = —dz(z +4) d) f(z) =-Za(e+4)

8) f(z) = =2(z+1)(z-+5) @f(m) = —2(x=1){z—5)

b) flx) =2(x+1)(x+5)

d) fz) =2z - 1)(z - 5)

Cont.
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4. Describe each of the following transformations of f(), in words. Be careful which order you write the transformations in.

(@) —flx+2)

) LePe
2\ Refleck n

(b) 3f(x-1)

) n(d\r\b \
2) skeebch Y S'CB

(c} f(z) +4

) wp &

{(d) flx+5)-3
) Left §
2) dewn 3

(e) f(2r)+9
) skcebch w0 SF Vg
Z) Mp a.

(f) f(-z)+1

N reCleck w0 “
2) vp

(g) 3f(2r)
{
\) Streteh 10 X sE 7z

v sbcetch 10 t) sk 3

(h) —f(z}+4

l) celleck 1n o

2) w &

Cant.
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5. For each of the graphs, describe the transformation of f(x).

(a) {c)
1 1
\/I} A

&
.

lect
Q&“ s 1 LC,F('«' L
0 2) ve !
Flar) +
()

(b

3 Zefleck 0 secebdin o € Uy
) Up 2 (:( Z-Cﬂ')
_F(x) 42

The End.



